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Answer any Siv questions including ).No. 1 which is compulsory.

1. Answer all the following questions. [2=10] 4. a) How resolution can be used to show a sentence is valid and
unsatisfiable. Explain with suitable example. [5]

b} Describe the different characteristics that govern the direction of

(a}) Explain intelligence and Artificial intelligence? How do you i
a search procedure. Justily your view in case of hill chimbing

distinguish between the both?
(b) Differentiate between Sirong Al and Weak Al? search process. [5]
ic) Define diflerent types ol heuristics with an example?

{e) How knowledge engineering works in first order logic. and Utility Function with suitable example. 5]
() What are the problems associated with Speech Recognition, b) Discuss the presence of ambiguity in natural language processing
{g) List the significance of breadth first search and depth first and how to resolve it [5]

search..

{h) Explain AO* algorithm with an example 6. a) What is Knowledge Acquisition? Describe its overall process and

T , ) sl how it is difTerent from knowledge elicitation. 15]
{i) Dhfferentiate between structured and symbolic description. o ) . )
() Discuss the process of sentence gensration b) Explain the reﬂqlutunrn Hllgurlthm‘um! discuss about soundness and
' ' completeness of resolution algorithm (5]
Z.J:a} J;I:-:tif:}_-' the vnli-.;il:-' l::f the following well formed l[ormula (WFF) 7.8) Explain how knowledge is represented with the help of semantic
{}' :""ﬁalT H“f [-.E' s ke 5 nets with the help of a block diagram? [4]
| v8) v Gl == mAx) 5] b) Describe the AY algorithm and its relation with overestimation and
by Describe the different compoenents required for a syslem of underestimation of heuristics? [6]
inference in lirst order predicate caleulus, [5]
8. Write Short Notes on any Two of the following : [5%2]
3. a) Explain the different types of leaming techniques in newral (a) Chomsky's Hierarchy
networks. What are their significance. [5] (b) Minskey frames system theory
b)Y Find out the conjunctive normal form (CNF) of the following (¢) Constraint satisfaction problem
statement: Everybody who say truth to all people is said truth by {d} First order predicate logic

SOMEOnE . 5]



